
1-	 Chapter 1, Sayfa 35,  “Test Yourself” 2. Sorunun “D” seçeneği aşağıdaki şekilde düzeltilmiştir.

	 D.	 Keeping a systematic, chronological diary of events, measured in monetary unit.

2-	 Chapter 6, Sayfa 181,  “Test Yourself” 9. Soru aşağıdaki şekilde düzeltilmiştir.
	 Assume that Bregenz Merchandising Company began September with 56 units of inventory that cost a total of 

$1,568. During September, Company had the following transactions:

September 2 Purchase 168 units @ TL 60

September 12 Sale 140 units @ TL 120

September 15 Purchase 112 units @ TL 66

September 20 Sale 170 units @ TL 120

	 Under the weighted average costing method what is the Bregenz’s cost of goods sold for September 20?
	 A. 10,200 TL
	 B. 7,280 TL
	 C. 17,980 TL
	 D. 1,560 TL
	 E. 10,872 TL
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